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Two sacrifices are involved


  in the following position 


 with White to play and win 


          (5 moves):


Last week we saw a couple of miniatures from the Australian Open but it isn’t only in games with players of widely separated ratings that such short games occur.  Here’s a game in which the present world champion is blown away in only 16 moves:

    Vassily Ivanchuk – Viswanathan Anand



 Rapid-Play Final, Leon 2008


 Nimzo-Indian Defence, Rubinstein Variation

1. d4 

Nf6 

2. c4 

e6 

3. Nc3 

Bb4 

4. e3 

0-0 

5. Bd3 

d5 

6. Nf3 

c5 

7. 0-0 

dxc4 

8. Bxc4 
Nbd7(a)

9. Qe2 

cxd4 

10. exd4 
b6 


11. d5 

Nc5(b) 
12. Rd1 
Qe8 


13. Nb5 
exd5 

14. Nc7
Qe4(c)


15. Rd4!(d) 
Qg6 

16. Nh4 
Resigns(e) 

a) A standard position reached countless times in master and grandmaster games.                                                                                 

b) Better 11 ... Bxc3 12 dxe6 Bb4 13 exd7 Qxd7 14 a3 Bd6 as in Portisch – Karpov 1972, which is approximately even.
c) If 14 ... Qxe2 15 Bxe2 Rb8 16 Bf4 leaves Black uncomfortably placed.                                                                                                                                                                         

d) Ivanchuk’s innovation, after 15 ... Qxe2 16 Bxe2 Black has both rook and bishop en prise .                                     

e) After 16 ... Qh5 17 Qxh5 Nxh5 18 Be2 Black has three pieces under attack.
Here’s another quick win by Ivanchuk, played in this year’s 71st Corus Tournament (Wijk aan Zee, Netherlands, 16 Jan – 1 Feb) but in a game in which either player might have won:


            Wang Yue – Vassily Ivanchuk 

                     2009 Corus A, Wijk aan Zee, Rd 2
                            Queens Gambit Declined


1. d4 

Nf6 

2. c4 

e6 

3. Nf3 

d5 

4. Bg5 

dxc4 

5. Qa4+ 
Nbd7 

6. Nc3 

a6 

7. g3 

b5 

8. Nxb5 
Rb8 


9. Na7?(a) 
Rb4 

10. Bxf6 
gxf6 

11. Qa5 
Bb7 

12. Bh3 
Qb8 


13. Qh5 
Ke7(b) 
14. d5! 
Qxa7(c)

15. dxe6 
fxe6 

16. Bxe6! 
Kxe6 

17. Qe8+ 
Be7!(d) 
18. Qxh8 
Nf8 

19. Qg8+ 
Kd7 

20. 0-0-0+?(e) Ke8

21. Qg4 
Qc5 

22. a3 

Rxb2! 

23. Kxb2 
Qxa3+ 

24. Kb1 
Qb3+ 

25. Ka1 
c3 

White resigns
a) Here the knight becomes stranded and is subsequently lost.

b) Defending against 14.Bxe6 but 13...Rb6 was probably better. White has obtained considerable positional compensation for the piece. 
c) Not 14…Bxd5 15.Qxd5! exd5 16.Nc6+.
d) This is the only move - 17...Kd6 18.0-0-0+ Bd5 19.Rxd5+ Kxd5 20.Qxd7+ Bd6 

(20...Kc5 21.Qd4+) 21.Rd1+ Kc5 22.Rxd6.  
e) 20.Qf7 should be played with an unclear position. 
William the Conqueror’s action in breaking a board on the head of a nephew he accused of cheating seems mild compared to that of David Edward Christian who this month was ordered to stand trial in Iowa City, US, accused of the murder of a neighbour while they were playing chess. 
SOLUTION:  1.Qxb5!! (a superb deflection sacrifice) 1…Qxb5  2.c4 (now with the discovered attack by the bishop Black is quickly mated) 2…Q moves 3.Rxg7+ Kh1 4.Rg8+! (a standard sacrifice in such positions) 4…Kxg8 5.Rg1#.

